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(A)

1. (1) (1/2)1log2 (2) 2log2 — 1 (3) 2(1 + log(2/3)) (4) =

2. (1) 2[t=tan(x/2) 000000000 A3100 tan 0000000
00 (2) (37)/8 (3) log 2 — (1/2)log3 (4) —(1/2)log 3

3. (1) 2v15 - V3 +(1/2) log{(2 — v3)/(4 = V15)} (2) (=71/8)e™* +3/8
(3) 8/3

4. (1) 7 (2 )10g( /3) (3) (m/24)(1 = 1/V/3) /
(4) 72/4 =2 [sin o =1-sin 'z, 2/V1 - 22 = -1 —2?]

5. (00 A.3.2]

(B)

1. (1) 7/4 —1/2 (2) 7/(3V/3)

(3)w/2—1log2 (8410000 (B)2(3)0000]

(4) 7/4 —tan~'(1/y/2) [tan(7/8) =v/2-100000000]

2. (1) 2/3 (2) log2 (3) 1/6 (4) 1/1og?2 (5) m/4

3. (1)[0<cos?r<1](2)0<2x<1000 0<2®<2]

4.[(2)0 (1)0 0200000000 4.2.1)

5.[((3)00000 [ x—7r/2) (sinz)dx =0.]

8. [ [) f(x)2de 00000 [{tf(x)+g(x)}?de 0 t0 20000000
ooo

g O00¢0000 >00000000000 0O0O]



